Practice Problems: Wavelength, Frequency, Energy. MORE PRACTICE - Thanks Avery !

1. A certain green light has a frequency of 2.45 x 10%* Hz. What is the wavelength of the light?
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2. What is the energy of a quantum of light from question 1?

E=hv

E = hv =

(6.626x10°*J -sec) ( 2 45 %104

(sec)

j = 1.62x107* J

3. What is the energy of a quantum of light with a frequency of 3.87 x 10° Hz?
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4. What is the wavelength of the quantum of light in question 3?
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5. A certain red light has a wavelength of 1250 nm. What is the frequency of the light?
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6. What is the energy of a quantum of light from question 5?

E=hv

6.626x107**J -sec 14
. ( )(2.40x10 j

(sec)

= 1.59x107™ J

7. The wavelength for a certain photon of light is 866 nm. What is the energy of this light?
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